
 

Français p. 6

Español p. 11

1

ITEM #0669017

MODEL #15264L

       LOG RACK

ATTACH YOUR RECEIPT HERE

Serial Number Purchase Date

EB15207

Style Selections®    is a registered trademark 
of LF, LLC. All rights reserved.

PACKAGE CONTENTS

A B

2 3

HARDWARE CONTENTS (shown actual size)

Qty. 12 Qty. 4  

-

4

1

2

ASSEMBLY INSTRUCTIONS

5Lowes.com Lowes.com Lowes.com

Bolt Nut     Bolt

Lowes.com Lowes.com

Style Selections® is a registered trademark 
of LF, LLC. All rights reserved.

Printed in China

C

CC

M8    x 75 mm M8

DDAA BB

Qty.    16 Qty. 2  

BB

B

A

CC

PART DESCRIPTION QUANTITY
A U-shape Tube 2
B Upright 2
C Bottom Tube 4

PREPARATION

SAFETY INFORMATION

WARNING

Please read and understand this entire manual before attempting to assemble, operate or install 
the product. 

Before beginning assembly of product, make sure all parts are present. Compare parts with package 
contents list and hardware contents list. If any part is missing or damaged, do not attempt to assem-
ble the product.

Estimated Assembly Time: 15 minutes

Tools Required for Assembly (included): Wrench. 

• Do not allow children to play with or around log rack.

CAUTION
• Place rack on hard, dry surface.
• Protect rack from moisture.

1. Slip a U-shape tube (A) into the top of an upright  
 (B). Insert two M8 x 45 mm bolts (BB) through 
 predrilled holes, then attach nuts (CC) and tighten

with wrench (DD).  
 

Repeat for remaining
U-shape tube (A) and upright (B).  

Hardware Used

M8 x 45 mm 
    Bolt 

x 4

CC x 4

BB

DD
x 2

2.  
 
 
 
 
 
 
 

Hardware Used

M8 x 75 mm 
     Bolt x8

CC x8

AA

DD x 2

C

AA CC

3

ASSEMBLY INSTRUCTIONS

3.  

  
 

Hardware Used

M8 x 75 mm 
      Bolt x 4

CC x 4

AA

DD
x 2

M8

Wrench

Nut

Wrench

Nut

Wrench

Nut

Wrench

WARRANTY

CARE AND MAINTENANCE

Frames are warranted to be free af defects in material or workmanship for a period of one (1) year.
This warranty does not cover defects resulting from improper or abnomal use, misuse, accident, or
alteration. Failure to follow all instructions in the owners manual will also void this warranty. The
manufacturer will not be liable for incidental or consequential damages.

• Clean with mild soap and water and a soft rag. Note: If water accumulates in the frames, make
  certain to drain them thoroughly. Water left in the frames during freezing temperatures could 
  cause damage to the screen.

AA

CCM8    x 45 mm

Attach 2 bottom tubes (C) to a bracket assembly, 
securing with 4 M8 x 75 mm bolts (AA).
Attach nuts (CC), then tighten with wrench (DD). 
Repeat for remaining bracket assembly.

Insert 4 M8 x 75 mm bolts (AA) through predrilled 
holes on bottom tubes (C) to attach bracket 
assemblies together. Attach nuts (CC), 
then tighten with wrench (DD).

 

6

0669017

15264L

A B

7 8

QUINCAILLERIE INCLUSE (grandeur reelle)

Qte. 12 

9

1

2

10Lowes.com Lowes.com Lowes.com Lowes.com Lowes.com

C

CC

M8    de  75 mm

M8

DDAA BB

BB

B

A

CC

 

M8 de 45 mm x 4

CC x 4

BB

DD
x 2

 
 

M8 de 75 mm x8

CC x8

AA

DD x 2

C

AA CC

3

M8 de 75 mm x 4

CC x 4

AA

DD
x 2

M8Clé

AA

CC

ARTICLE #

SUPPORT POUR BÛCHES 

MODÈLE #

Numéro de série Date d’achat

JOIGNEZ VOTRE REÇU ICI

 
 Style Selections® est une marque de commerce deposee     

 
 de LF, LLC. Tous droits reserves. 

CONTENU DE L’EMBALLAGE

DESCRIPTION QUANTITÉ
A Tube en U 2
B Montant 2
C Tube inférieur 4

PIÈCE

Boulon 

Écrou  

CONSIGNES DE SÉCURITÉ

Assurez-vous de lire et de comprendre l’intégralité du présent manuel avant de tenter d’assembler, 
d’installer ou d’utiliser l’article. 

• Ne laissez les enfants ni jouer avec le support à bûches ni à proximité de celui-ci.
AVERTISSEMENT

ATTENTION
• Placez le support sur une surface dure et sèche.
• Protégez le support de l’humidité.

PRÉPARATION

Avant de commencer l assemblage de l article, assurez-vous d’avoir toutes les pièces. Comparez le 
contenu de l’emballage avec la liste des pièces et celle de la quincaillerie incluse. S’il y a des pièces 
manquantes ou endommagées, ne tentez pas d’assembler l article.

Temps d’assemblage approximatif :  15 minutes

Outils nécessaires pour l’assemblage (inclus) : clé. 

INSTRUCTIONS POUR L’ASSEMBLAGE
1. Emboitez un tube en U (A) dans la partie superieure d’un 
    montant (B).                             Inserez deux boulons M8 de 45 mm (BB) 

 dans les trous preperces et fixez les ecrous (CC), puis
 serrez-les    I aide de la cle (DD). Faites de meme pour le
 tube en U (A) et le montant (B) restants.  

 

Quincaillerie utilisée

Écrou 

Clé

   2.  Fixez les 2 tubes inférieurs (C) à un ensemble de
        support  

         

 
             à l’aide de 4 boulons M8 de 75 mm (AA).
Posez les ecrous (CC) et serrez-les à l’aide de la 
clé (DD). Répétez ces etapes pour l ensemble
de support restant.    

                                             

 
 
 

                           

 
 

                            

 Quincaillerie utilisée

Écrou 

Clé

INSTRUCTIONS POUR L’ASSEMBLAGE

3.  Insérez 4 boulons M8 de 75 mm (AA) dans les 
  trous prépercés des tubes inferieurs (C), puis 

 assemblez les ensembles de support. Posez les 
 ecrous (CC) et serrez-les à l’aide de la clé (DD).    

    
 
 
Quincaillerie utilisée

Écrou 

Clé

• Nettoyez avec un savon doux, de l eau et un linge doux. Remarque: Si de l eau s accumule dans
   les cadres, assurez-vous de les vider soigneusement. Lorsque la temperature est inferieure au 
   point de congelation, l eau accumulee dans les armatures peut geler et les endommager. 

ENTRETIEN

GARANTIE
Les armatures sont garanties contre les defauts de materiaux et de fabrication pour une periode de
un (1) an. La presente garantie ne couvre pas les defauts resultant d un usage inadequat, anormal
ou inapproprie, d un accident ou d une modification. Si vous n observez pas toutes les instructions
contenues dans le guide d untilisation, la presente garantie sera annulee. Le fabricant n est pas 
responsable des dommages accessoires ou consecutifs.                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                      

Imprime en Chine

 
 Style Selections® est une marque de commerce deposee     

 
                                         de LF, LLC. Tous droits reserves. 

 

11

0669017

15264L

A B

12 13

Cant . 12 

14

1

2

15Lowes.com Lowes.com Lowes.com Lowes.com Lowes.com

C

CC DDAA BB

BB

B

A

CC

 

Perno M8 x 45 mm x 4

CC x 4

BB

DD
x 2

Perno M8 x 75 mm x8

CC x8

AA

DD x 2

C

AA CC

3

M8 x 75 mm x 4

CC x 4

AA

DD
x 2Llave de tuercas M8

AA

CC

 
 
 
 
 

Aditamentos utilizados

 Tuerca

Llave de 
tuercas

 Aditamentos utilizados

Tuerca

Llave de 
tuercas

 
Aditamentos utilizados

 

ARTÍCULO #

SOPORTE PARA LEÑOS 

MODELO #

 
Style Selections® es una marca registrada

 
  de LF, LLC. Todos los derechos reservados. 

Número de serie Fecha de compra

ADJUNTE SU RECIBO AQUÍ

CONTENIDO DEL PAQUETE

PIEZA DESCRIPCIÓN CANTIDAD
A Tubo en forma de U 2
B 2
C Tubo inferior 4

ADITAMENTOS (se muestran en tamaño real)

INFORMACIÓN DE SEGURIDAD

Lea y comprenda completamente este manual antes de intentar ensamblar, usar o instalar el producto. 

ADVERTENCIA
• No permita que los niños jueguen con el soporte para leños o cerca de él.

PRECAUCIÓN

• Protéjalo de la humedad.

PREPARACIÓN

Antes de comenzar a ensamblar el producto, asegúrese de tener todas las piezas. Compare las 
piezas con la lista del contenido del paquete y la lista del contenido de aditamentos. No intente 
ensamblar el producto si falta alguna pieza o si estas están dañadas.

Tiempo estimado de ensamblaje:  15 minutos

Herramientas necesarias para el ensamblaje (se incluyen): Llave de tuercas.

INSTRUCCIONES DE ENSAMBLAJE
1. Coloque un tubo en forma de U (A) en la parte 
 
                                                                               superior 
    de un soporte vertical (B). Inserte dos pernos M8 x 45
    mm (BB) a traves de los orificios     
 

                                                      pretaladrados, luego
 coloque las tuercas (CC) y aprietelas firmemente con 
 la llave de  

 
 tuercas (DD). Repita 

 

                                                           la operación para
        el otro tubo en forma de U (A) y soporte vertical (B).

 

2.  Fije 2 tubos inferiores (C) a un ensamble de abrazadera,
     asegurandolo con 4 pernos  M8 x 75 mm (AA). Coloque
     las tuercas (CC) y luego apriete con la llave de tuercas
     (DD). 

 
 
 
 

                               

 
 
 

                                                Repita para el ensamble de la abrazadera restante.

 
 

INSTRUCCIONES DE ENSAMBLAJE

3.  Inserte 4 pernos M8 x 75 mm (AA) por los orificios
     pretaladrados en los tubos inferiores (C) para unir
     los ensambles de la abrazadera. Coloque las tuercas
     (CC) y luego apriete con la llave de tuercas (DD). 

 
 
 
 
 

Tuerca 

Llave de 
tuercas

CUIDADO Y MANTENIMIENTO
• Limpie con un jabón suave, agua y un pano suave. Nota: en caso de que se acumule agua en los
  marcos, drenela por completo. El agua que queda en los marcos durante temperaturas de 
  congelamiento podria causar danos a la pantalla.

GARANTÍA

La estructura esta garantizada contra defectos de fabricacion en  materiales y mano de obra durante
un periodo de un (1) ano. Esta garantia no cubre defectos que sean producto de un uso incorrecto o
anormal, uso indebido,accidente o alteracion. No seguir todas las instrucciones del manual del propietario 
tambien anulara esta garantia. El fabricante no sera responsable de danos accidentales o resultantes.  

Impreso en China

 
Style Selections®     es una marca registrada

 

  de  LF, LLC. Todos los derechos reservados. 

 
 

Qte. 4  

Qte. 16  Qte. 2  

  à 

Boulon 

Boulon 

Soporte vertical

Cant .  4 Cant . 16 Cant .  2 

Perno 

Perno M8 x 75 mm Perno M8 x 45 mm Tuerca M8

M8    de  45 mmBoulon 

Boulon 


